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Cumulative Test @

Also take Power-Up Test 19

(9‘!}. In a board game, Grant scored
four points more than Kobe. Kobe
scored three times as many points
as Todd. If Todd scored 6 points,
how many points did Grant score?

(922). Draw a parallelogram with no right
angles.

(3). The toll is $1.30. Pilar put four

dimes and three nickels in the
basket. How much more money
does she need to put in the
basket?

(;ls). Twenty-nine cans were arranged

a. How many shelves had exactly
7 cans?

b. How many shelves had 8
cans?

; Eg) Draw a rectangle and shade 75%
~ et
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on 4 shelves as evenly as possible.

(Inv. 4).

(69,
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6. a. What decimal number names
the shaded part of this square?

b. What decimal number names
the part that is not shaded?

(9'11). Which digit in 12.875 is in the
hundredths place?

(9&2}. Estimate the product of 41 and 68.
Then find the exact product.

790). Jane bought a meter of ribbon
and cut off about one fifth of it to
make a bow. About how many
millimeters of ribbon did Jane use
to make the bow?
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Cumulative Test @

(11%. What is the area of this rectangle? 1(35@ 40 X 800
30 yd
20 yd
16. $7.76 X 4
(68)
17. 26
'!9!). There are 18 people in the theater. L
Two thirds of them have tickets.
How many people have tickets?
18. 4)600
12. Charis galloped 144 kilometers
®"in 4 hours. If Charis galloped at a
steady speed, how far did Charis
gallop in one hour? 19, 994
v 7
20. Find the missing addend:
as 17 ; :
(”:IV::’;) Write 00 28 @ decimal number. ROpTIGTIR SIoV BUS 8f) el b
+ 9 + 8 =63
14. 2.3 - 0.23
@1
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